AP® MICROECONOMICS
2015 SCORING GUIDELINES

Question 1
10 points (1+5+1+3)
(a) 1 point:
e One point is earned for stating that the firm’s price is equal to the market price because the firm is

a price taker.
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(b) 5 points:

e One point is earned for drawing a correctly labeled graph of the market with Pp, Qm,
a downward-sloping demand curve, and an upward-sloping supply curve.

e One point is earned for identifying the firm’s profit-maximizing quantity, Qr at marginal cost (MC)
equal to price or demand, or marginal revenue, or average revenue.

e One point is earned for showing the firm's average revenue curve, labeled AR, which is horizontal
at the price determined by the market.

e One point is earned for showing the firm'’s average total cost (ATC) curve, such that the MC curve
is passing through the minimum of the ATC curve, and P > ATC.

e One point is earned for showing the area representing total cost shaded completely.

(c) 1 point:
e One point is earned for stating that the firm's total revenue will fall to zero, because quantity
decreases to zero, or because the firm is a price taker, or because the firm is facing a perfectly
elastic demand, or the firm loses all of its customers, or the firm has no market power.

(d) 3 points:

e One point is earned for stating that the firm’'s quantity will remain the same in the short run and for
explaining that MR or MC will not change in the short run. (Or, because the lump sum subsidy has
no effect on marginal revenue and/or marginal cost, or that only fixed costs will be affected.)

e One point is earned for stating that the market price will decrease and the quantity will increase.

e One point is earned for the explanation that positive profits lead to entry of new firms that will
increase the industry supply.
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AP® MICROECONOMICS
2015 SCORING COMMENTARY

Question 1
Overview

The question assessed students’ ability to work with a perfectly competitive model under various
circumstances. Part (a) required students to explain whether the market price is greater than, less than, or
equal to the price a typical firm charges. The question tested whether students understand why the
perfectly competitive firm is a price taker. Part (b) required students to draw and correctly label side-by-
side graphs of a perfectly competitive market and a typical firm in the market. Items required in part (b)
tested for understanding: 1) the determination of the market equilibrium price and quantity; 2) how the
typical firm determines its profit-maximizing output level; 3) that the average revenue (AR) for the firm is
constant and equal to the price determined by the market; 4) that when the firm is earning economic
profits the average total cost (ATC) must be less than the price at the level of output produced by the firm
and that the marginal cost (MC) curve intersects the ATC at the minimum of the ATC; and 5) the
determination of the total cost of a firm earning economic profits using a graph. In part (c¢) students needed
to explain why, if one of the firms in the industry raises its price above the market price, its total revenue
will fall to zero. Part (d) assumed the perfectly competitive industry is in long-run equilibrium. The two
questions in part (d) tested whether students understand the impact of a lump-sum subsidy on the firm's
output in the short run, and the process that changes the market price and output in the long run.

Sample: 1A
Score: 10

The student answered all parts of the question correctly and earned all 10 points.

Sample: 1B
Score: 6

The student earned 1 point in part (a) for correctly explaining that the market price is equal to the firm's price
because the firm is a price taker. The student earned 1 point in part (b)(i) for correctly drawing a graph for the
perfectly competitive market and correctly labeling the market price, P, and quantity, Q_,. The student
earned 1 point in part (b)(ii) for correctly identifying the firm'’s profit-maximizing quantity at marginal cost
(MC) equal to price or average revenue. The student earned 1 point in part (b)(iii) for correctly drawing the
firm’s average revenue curve as a horizontal line at the price determined by the market. The student earned 1
point in part (b)(iv) for correctly drawing the firm's average total cost (ATC) curve such that the MC curve
passes through the minimum of the ATC curve, and P>ATC when the firm is earning positive economic
profit. The student earned 1 point in part (b)(v) for correctly shading the area of total cost.

Sample: 1C
Score: 1

The student earned 1 point in part (b)(i) for correctly drawing a graph for the perfectly competitive market
and correctly labeling the market price, P, and quantity, Q.
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